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. I HTRES We H»EFEL &5,

)

® 4 L = dL @ 5 L = dL
@ 20 du. = L @ 40 d. = L
® 5 L 6 d. = dL. ® 4 L 2 dL = dL
@ 53 dL = L dL 86 dL = L dL
2. 2 HTIEXE3 Tz HEFL LS5,
@ I L = mL | du = mL
@ 8 do = mL ® 5 L = mL
® 300 mL = dL @ 9000 mL = L
® 8500 mL = L dL = dL
T®
3. I HTEES |E HEFL L5,
@ 7 L 8 do + 2 L | do = L dL
8 L 6 du + | L 5 d. = L dL
5 L 6 do — 3 L | du = L dL
@ 8 L 7 do — 6 L 9 d. = L dL
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3
® 40 du. @ 50 du @ 2 L @ 4 L

®56 d ® 42 d @ 5 L 3 do ® 8 L 6 dL
@ 1000 mL I0O0 mL @ 800 mL ® 5000 mL

® 3 d ® 9 L ® 8 L 5 duo = 85 dL
® 9 L 9 d 10 L | da
@ 2 L 5 dL @ | L 8 dL

B3 %82 LEAF [https://leaf-64.com]
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l. < HTIXES Bzx EFL L9
® 4 L = dL @ 7 L = dL
® 90 dL = L @ 20 d. = L
® 3 L 3 do = dL ® 8 L 7 dL = dL
@ 92 d. = L dL 45 dL = L dL
2. < HTIEXES Bx EFL LS.
@ | dL = mL Il L = mL
m 7 L = mL @ 2 du = mL
@ 6000 mL = L @ 200 mL = dL
® 7400 mL = L L = dL

T®
3. I HTIEEx3 e HTFL LS5,
@ 3 L 5 do + 4 L | do = L dL
6 L 7 d + 3 L 6 d. = L dL
3 L 3 d — 2 L 2 do = L dL
@ 5 L 5 do — 2 L 7 do = L dL
V63
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® 40 du. @ 70 du @ 9 L @ 2 L
® 33 d ® 87 d @ 9 L 2 d. ® 4 L 5 dL
@ 100 mL 1000 mt @ 7000 mL ®@ 200 mL
® 6 L @ 2 do ® 7 L 4 do = 74 dL
@ 7 L 6 dL IO L 3 dL
@ | L | dL @ 2 L 8 dL




